AML(RRD RS

REREMRTH (B (F45)

as %
= THRAEXEAN B (2SR DS
5 i RS | %M 5% 3A3IHET
AigRmee |(SHAEZI IR Tk 2Gn
3 FREAflikg
AL (R 24 ¥1,066,670| oGt ¥2,192.274
MLRR) EL®REH ¥ 969,700 E- Vi T ERA R IR
BIL(RB¥EEL (A SttaxhpE¥
ALEREES . — @7\ (R %E: *ﬁ@ ) & gﬁ% —
77 %%%%%*ﬁ% ¥1,402,90 |
RS AR ¥969.700 ( 3 "\
(EmaEh 1
y 3
BHFLE
hVA=3




ML(RBD BEHE

B IREfMth | MEEEREHEE (B3115)

f# %

M Rmee (SN 4E2T 4R FRTI0R00%

REsERs  |gp F A B THTE R 5

HAL (R £ ¥8,563,500 (ke ¥8,732,900
AMLEAR B ¥?,785,000 E 3 & HoRERE

HHEREEL |(BRSUBET Y/ nv—by2— BT

MR R4 T S e e e
PG ST ¥9,900,000
LSS AL y14,500,000 J
T Sal A AT ¥7,785,000 (‘E’aé)
RASHFEEZEY | ¥13,000,000 T~

FAFLE

URE




ML(RBDBBEHZ

EESMERF T (Bl - BETHI) (381 5)

44: %

- | TREKENKE CEHH) 8] R E DD

7 P B | &40 54 3A3IHET
ML REee (G0 4E2T 4R HT0R00

fﬁﬁ%ﬁ;ﬁﬂﬁﬁ%A i;,%'ﬁ}f ﬂi }EJ El q:_ﬁﬁtf:f"ﬁ B# 53\

AL (RD 8 ¥15, 933, 500 g%%%) ¥16,£§1i:>h§;52)67
JALER) BERSE ¥14,485,000] 2 @ |wsmemsrs
HHL(RRDEES (MRS IRTE TREXE

FALERD 252 = (%E: *ﬁ@ ) & gﬁﬁ —

A . YA

\Nas %4
BAALE

i
RYA=3




AMLRBDBBEHE

EEERTE (B0 - SEmx) (E28)

&g %
iz 7 TREXEARKE #HHEMX) B | SRt B D
U ' ERES 3AAET

MiaRmee [SH 4RI AR TR IRS0S

i e P - # A H - e B o0

3 FrEfMikS

HAL (R S48 ¥15,950,000]  aliet ¥16,034,767
AML(RB)EELHESHE ¥ 14,500,000 ¥ & ERAETH ‘

EALERDREY | SRR o

LB BEZ, N “/ﬁ_\ —
B R ;
; PR ¥ 14,800,000 ¥ 14,500,000 ( &
BRASHBLRTE | BERZEORD \U4 57
THREXZE ks

FFLE

IRH




ML(RBDBEHRZ

ERSTERLHE GLE) (53 5)

s %
TREXERN 8 | SRE A D

5 Zi R |88 54 3H31HE T

MigRgae |ZHAEZILUE Tk 1RS0S

. : TR

AL (B 4 ¥10,710,700| 5 ¥ 14,280,494
AL (RB) BRSO ¥9,737,000| % @ |mxTm

EALERDZES BTy ket

X A (B B ) & B

AMLERZEL T —~ —

BEET v 7 Bkt 9. 737 000 (Ew:)
: (MEAE
?ﬁ%%;%ﬁﬁ%& e ¥ 9,998,400 N—
BALE

MREH




AL (R Rl

KT REE RS E =R T TV RSUE T H

o £
. [ TREKAE=RAT3 —9— 3 1 [ R OB AN D
F B |5 4% 8A3IAET
AL B g;}% 4%?_2:}5\11:65 FHG118R00%
ﬁb}%%’%ﬂﬁ%’% iprr 55|5 H E FHEi-F18 B o
HALRRD S8 ¥3,157,000| (aicifl., ¥5,731,000
AL EoRESE ¥2,870,000| % 1= ELTH
HIL(EADREY |MEECERRSY AdEEsE
X (B M) & &
)\‘niﬁﬁ)%%% 5= g F = =&
ﬁ;ﬁgﬁ%ﬁﬁﬂi ¥ 2,870,000 ( Fﬁ)
[FRERTERRSE I
TETEN Ty £8.900.000
BAALE
e




